UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO14

NAME SIGNATURE DATE REVISION
DRAWN|  MRebase 12042013 DESCRIPTION:
APPVD Slide ALF
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | scaEi20 SHEET 1 OF 12




1 2 3 4
safety area
_ 1511 _
A J
S
0 O
s, 5 S
@) <
, 1 R1000
1500 1000
9 %
o 7 5
%\ 6\00 R
Y [II:AH]
_ 1000 _ _ 1000 _
o
S
Y £,
000
Y
- 4003 -
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE IN KLOGRAMM LMO14
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 12.04.2013 DESCRIPTION:
APPVD Slide ALF
?‘.P‘ T- t- t oU Tl\/pélg’:gr?“(gy MATERIAL: .
TX;’P |p |p ap Juri alevik, Rae vald, wood, metal, plastic A4
7530] HOI’JUFT]CICI WEIGHT: | SCALE: 1:35 SHEET 2 OF 12




foundation

850 504

850

1152

N

f

5616

4003

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO14

WEIGHT:

NAME SIGNATURE DATE REVISION
DRAWN|  M.Rebase 12042013 DESCRIPTION:
APPVD Slide ALF
‘5 Tiptiptap OU
T H H ouU Veetorni 9, MATERIAL: -
TX;’P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
| scaess SHEET 3 OF 12




2125

550

Y
|

50

1558

ground - 2116 -

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO14

NAME SIGNATURE DATE REVISION
DRAWN|  MRebase 12.04.2013 DESCRIPTION:
APPVD Slide ALF
‘5 Tiptiptap OU
" H H ou Veetorni 9, MATERIAL: .
'?T‘DP TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4

AP

75301 Harjumaa

WEIGHT: | SCALE: 1:40

SHEET 4 OF 12




1D

AP

75301 Harjumaa

TEM PART NUMBER DESCRIPTION QY.
1 |post 98x928x1500 lominated wood 4
2 |platform laminated wood 1
3 |slide h_550 PE plastic, stainles steel 1
4 |panel 750x750 plywood 2
5 |stairs h_550 plywood, wood 1
6 |guardrail @25x770 painted steel 1
7 |counting rings painted steel, PE plastic |
8 [slide side panels with fixings plywood, metal 2
9 |captain wheel PE plastic, metal 1

S MOo14

Z’i’;?ﬁ M Rebase 12042013 DESCRIPTON: i ALF
‘5 o ) Tiptiptap OU
LA Tiptiptap® joiden Reevaa - wood, metal, plastic A4

WEIGHT: | SCALE: 1:30

SHEET 5 OF 12




1 2 3 4
6
A
5
,ﬂh/"\'\
° N NP post o
ground 3
[
3 1, 2 2 /1,3 {0} !
\\ \D N i ) Y |
C . o o
Uy o
" N
/; /> \X‘\ concrete
Y
% b w o
371 2 _ 2 3 E E 2
[
'
i
i
4 |
° 1
A 300
1 N PART NUMBER
) 1 |screw DIN7504K 5,5x50
£ 2 |nut cover Mé
3 |nut cover cap Mé
4 metal ground fixing L_600
5 |plastic cap 115x115
6 |woodscrew 6 x 90

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM LMO ] 4
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 12.04.2013 DESCRIPTION:
APPVD Slide ALF
" . Tiptiptap OU connecting metal ground fixing to post
1 H : ouU Veetorni 9, MATERIAL: :
-IX%P TI ptl ptap JUri alevik, Rae vald, wood, metal, plastic A4
75301 Harjumaa
WEIGHT: | SCALE: 1:8 SHEET 6 OF 12




',LE(S" PART NUMBER
1 |bolt DIN603 M10x100
2 |bolt DIN603 M10x60
3 |nut DIN985 M10
4 woodscrew 6 x 90
5 |nut cover M10
6 |nut cover cap M10
DIMENSIONS ARE I ALLIMETERS PARTNUMBER / WG NO.:
WEIGHT ARE IN KILOGRAMM LMO] 4
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 12.04.2013 DESCRIPTION:
APPVD Slide ALF
. Tiptiptap OU connecting platform to post
1, = H ou Veet i9, MATERIAL:
?"X'P Ti ptlptap J0ri O|eeveikf’¥2§e vald, wood, metal, plastic A4
P 7530] HorijOO WEIGHT: | SCALE: 1:15 SHEET 7 OF 12




post
] '/

ITEM PART NUMBER

slide side panel 125x600

slide side panel fixing 40x100

slide side panel fixing 40x135

guardrail @ 25x770

olt DIN603 M10x30

nut cover M10

nut DIN985 M10

nut cover cap M10

olt DIN603 M10x100

olt DIN931 M10x100

olt DIN603 M8x35

nut cover M8

SISIZ IS0 0| N|os ;| A w| Mo —

nut DIN985 M8

14 |nut cover cap M8

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO14

NAME

SIGNATURE

DATE

REVISION

DRAWN M.Rebase

12.04.2013

APPV'D

DESCRIPTION:

Slide ALF

AP

A Tiptiptap®”

Tiptiptap OU
Veetorni 9,

75301 Harjumaa

connecting slide side panel to post

MATERIAL:

JUri alevik, Rae vald, wood, metal, plastic A4

WEIGHT: | SCALE: 1:12 SHEET8 OF 12




/

DETAIL A
SCALE1:5
ITEM
< 7 PART NUMBER
1 1 |bolt DIN603 M8x30
- 2 |bolt DIN603 M8x50
) 3 |nut DIN985 M8
4 |nut cover M8
3 ] 5 |nut cover cap M8
6 |bolt DIN603 M10x50
7 |nut DIN985 M10
ground fixing 8 |nutf cover M10
9 |nut cover cap M10
10 |corner 58x30
11 |metal screw DIN 7380 M8x16
DIMENSIONS ARE N MILLIMETERS PARTNUMBER / DG NO:
WEIGHT ARE IN KILOGRAMM LMO] 4
APPV'D - — | Slide ALF

e
AP

Tiptiptap OU
Veetorni 9,

L Tiptiptap®™ o diek kae vaia,

75301 Harjumaa

connecting silde to platform

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:12

SHEET 9 OF 12




10C 11¢ 9

g8y

panel
\pOST
pl
’ ITEM
NO. PART NUMBER
1 |corner 48x60
2 |bolt DIN603 M10x100
3 |bolt DIN603 M10x30
4 |nut cover M10
5 |nuf DIN985 M10
6 |nut cover cap M10
DIMENSIONS ARE N MILLIMETERS PART NUMBER / DWG NO:
WEIGHT ARE IN KILOGRAMM LMO ] 4
NAME SIGNATURE DATE REVISION
DRAWN M.Rebase 12.04.2013 DESCRIPTION:
APPVD Slide ALF
‘5 Tiptiptap OU connecting panel to post
1, = H ou Veet i9, MATERIAL:
-'{;\w Tiptiptap® o dicvic. Rae vaa, wood, metal, plastic A4
P 7530] HorijOO WEIGHT: | SCALE: 1:10 SHEET 10 OF 12




plo’rform\
\‘\
]
x\\
\—=

\ground fixing

ITEM
NO. PART NUMBER
ground fixing/' 1 [stairs side panel
2 |board 730x145x30
3 |woodscrew 6 x 90
4 |nut cover M10
5 |wood screw DIN571 10x80
6 |nut cover cap M10
7 |bolt DIN603 M10x30
8 |domed cap nut DIN1587 M10
9 |board 700x45x45
10 |Ground fixture L-shape
DIVENSIONS ARE N MILLIMETERS PART NUMBER / DWG NO.:
WEIGHT ARE IN KILOGRAMM LMO] 4
APPV'D, - — | Slide ALF
‘5 Tiptiptap OU connecting stairs to platform
(13 = = J Veetorni 9, MATERIAL:
-?rﬂP Ti ptlptapOU Jori alovik, Rae vald, wood, metal, plastic A4
AP 7530] HorijOO WEIGHT: | SCALE: 1:15 SHEET 11 OF 12




counting rins

N7 PART NUMBER
1 |nut cover M10
2 |bolt DIN931 M10x100
3 |nut cover cap M10

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM LMO 14
NAME SIGNATURE DATE REVISION Connecﬁng counTing r]ngs to pOST
DRAWN M.Rebase 12.04.2013 DESCRIPTION:
APPVD Slide ALF
Tiptiptap OU
Veetorni 9, MATERIAL:

A Tiptiptap™

Juri alevik, Rae vald,
75301 Harjumaa

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:15

SHEET 12 OF 12




	Sheet1
	Drawing View10

	Sheet2
	Drawing View11

	Sheet3
	Drawing View12

	Sheet4
	Drawing View13
	Drawing View14
	Drawing View15

	Sheet5
	Drawing View16

	Sheet6
	Drawing View17
	Drawing View18

	Sheet7
	Drawing View19

	Sheet8
	Drawing View20

	Sheet9
	Drawing View21
	Detail View A (1 : 5)

	Sheet10
	Drawing View23

	Sheet11
	Drawing View24

	Sheet12
	Drawing View25


